Is the world trade system a level playing field?
  A level playing field would imply that Global trade would be even between nations and there would be free trade and high levels of comparative advantage. Comparative advantage refers to the ability of a country to produce a particular good at a lower opportunity cost than another country. It is the ability to produce a product most efficiently given all the other products that could be produced. For example the UK would export financial services, Africa would export agricultural products. Every country would produce what they’re best at producing to make the trading system fair. However this is not the Case because Trade blocs protect their trading markets by protectionist actions which make it harder for countries outside of the trading bloc to compete. Also, countries are favourited to import from (ex-colonies). Protectionism is another factor that affects exports from countries.
The World Trade Organization (WTO) deals with the rules of trade between nations at a global level. One of the objectives of the WTO is trade liberalisation, this is the removal of or reduction in the trade practices that prevent free flow of goods and services from one nation to another (free trade).tariff It includes dismantling of  (such as duties, surcharges, and export subsidies) as well as non-tariff barriers (such as licensing regulations, quotas, and arbitrary standards). If free trade was present World trade would be a level playing field because it would mean a free flow of goods and services with no restrictions. However the WTO is run by the rich and for the rich so does not consider developing countries. This causes many barriers and restrictions to Global trade.
Global invisible trade is dominated by the North because it is a transfer of services and non physical goods. This is usually goods and services such as finance. The North is more developed in finance and many LEDC countries are in debt, and their banking system is unreliable. Therefore the Northern MEDC countries export the majority of global invisible trade. 
   This shows that the world trade system is not a level playing field because some developing countries are unable to export invisible goods and services.

However more developed countries are exploiting their resources and selling them on the world market or producing goods that are in global demand. 

Countries such as China have recently exploited their large population and cheap labour and have now taken a large share of the global manufacturing trade. They are now one of the largest exporters.
   The pattern of world trade is increasingly influenced by three trade blocs. A large proportion of global trade and investment is concentrated within Europe, North America and East Asia. Economic integration within each of these regions has an increasing influence on global trading patterns. The main effect is due to subsidies in trade blocs which make trading within the nations in the blocs easier. And therefore trade out of the blocs more difficult. Countries such as Kenya find it harder to export flowers where they have the comparative advantage for (warm climate) because in Brussels large green houses are built to enable the same flowers to be grown there, and are subsidised by the EU to create a positive balance of payments and create jobs. Kenya’s exports are restricted into the EU because of tariffs.

   Therefore this is not a level playing field because the richer nations are subsidising industries so that they can export more goods at a lower cost. And this is unfair on exports from poorer countries, because a large % of the population is reliant on agricultural exports, whereas in countries such as the EU they have plenty other industries to generate trade. 
The EU maintains close links to its former colonies through trade preferences. Bananas are a main source of friction between the EU and the banana producers of the US. The USA claims that when it comes to buying bananas, member countries of the EU favour producers in their former colonies rather then buying the cheapest sources. 

   The WTO takes an active role in fair trade and ordered that sanctions be placed on certain EU exports. This means that certain goods may be subject to 100% duties on entering the US from the EU.

   A solution to make trade more equal is fair trade. It focuses in particular on exports from developing countries to developed countries, most notably handicrafts, coffee, cocoa, sugar, tea, bananas, honey, cotton, wine, fresh fruit and flowers. Fair trade's intent is to deliberately work with marginalized producers and workers in order to help them move from a position of vulnerability to one of security and economic self-sufficiency. It also aims at empowering them to become stakeholders in their own organizations and actively play a wider role in the global arena to achieve greater equity in international trade. 
Although trade is made up largely of two-way flows of goods and services, the flows between any two countries are rarely evenly balanced. I have shown that even though it is a target of the WTO to have free trade, and therefore a level playing field, this will rarely be the case because the richer countries trade in their interest, and use protectionist behaviours that restrict trade to developing countries, preventing the theory of comparative advantage. LEDC’s have a disadvantage in trade and this would not occur if world trade was a level playing field. The world fair trade organisation (WFTO) has taken steps to make trade more equal, but MEDC’S will always make trade unequal by prioritising trade with ex-colonies and having a technical advantage in invisible trade.
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